Cicy data for heterotic line bundle models

Cicy: {6784, 4, 3}}
= Cicy 6784, Symmetry 3
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nX)=-64 h"X)=4 h?'(X)=36 co(TX) = (24, 24, 24, 40)

k=12t g+ 24t oty + 12ttty + 24 o ta ty + 124, 5 + 12, 2 + 12455 + 483
symmetry: 3 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Cicy: {{6828, 4, 2}}

= Cicy 6828, Symmetry 2
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nX)=-64 h"X)=4 h>'(X)=36 cy(TX) = (24, 24, 24, 40}

k=12t ot + 24 by + 24t oty + 12t gty + 124 B + 12 6 + 1215 65 + 418}

symmetry: 2 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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{{7435, 4, 2}}
= Cicy 7435, Symmetry 2
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44 cp(TX)
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=4
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7n(X) = -80
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k=12t totg+ 24t toty + 24t toty + 24 tataty + 24t 5 + 24, 2 + 24 5 13 + 16

symmetry: 2 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Action on coordinates: {

Actiononpolynomials:{ 0 0O0-1000O0

{{7862, 4, 5}}
= Cicy 7862, Symmetry 5

Cicy

h?'(X) = 68  Co(TX) = (24, 24, 24, 24}

=4

h"'(X)

nX)=-128

k=12t g+ 12t oty + 12ttty + 12t ta by

symmetry: 5 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Action on coordinates: {[

Action on polynomials: {( 1), (1)}

{{5256, 2, 1}}

Cicy

= Cicy 5256, Symmetry 1
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{24, 24, 24, 24, 40}

29 cp(TX)

h?"(X)

=5

h"(X)

n(X) = -48
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k=12t bt + 12t bt + 12t oty + 12t ta by + 12t tts +24 L o ts + 24 b ta ts + 24t ty s + 24 oty ts + 12t Lyt + 12 B4+ 126, B+ 12 24+ 124, 2 4 4

order: 2

symmetry: 1

Abelian: True block diagonal: True factors: {2}
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Cicy: {5256, 4, 3}}
= Cicy 5256, Symmetry 3
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nX)=-48 h"X)=5 h>'(X)=29 c,(TX) = (24, 24, 24, 24, 40}
k=12t btg+ 12ttty + 12ttty + 12t taty + 12t tots + 24 by ta ts + 24 oty ts + 24ty ty ts + 24 Loty ts + 12t by ts + 12t 2+ 12 B+ 12t B+ 124, 2 + 42
symmetry: 3 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Cicy: {{5452, 4, 1}}
= Cicy 5452, Symmetry 1
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nX)=-48 h"X)=5 h>'(X)=29 c,(TX) = (24, 24, 24, 24, 40}

k=12t totg+ 12t oty + 12t oty + 12tp to by + 24 by tots + 12t to ts + 24 Lot ts + 24ty Lyt + 120ty ts + 24 ta ty ts + 124 B4 126 2+ 12 2+ 124, B 44182

symmetry: 1 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Cicy: {5452, 2, 11}}

= Cicy 5452, Symmetry 11
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nX)=-48 h"(X)=5 h>'(X)=29 cx(TX) = (24, 24, 24, 24, 40}
k=12t totg+ 12t oty + 12t taty + 12tp taty + 24ty tots + 12t ta ts + 24 o ta ts + 24 ty ty ts + 12t ty ts + 24 ta by ts + 12t 2+ 12 B+ 12t B + 1244 2 + 482
symmetry: 11 order: 2

Abelian: True block diagonal: True factors: {2}
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{{6947, 4, 7}}
= Cicy 6947, Symmetry 7

Cicy
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37  co(TX) = (24, 24, 24, 24, 64}
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k=12t thtg+ 12ttty + 12ttty + 12tptaty + 24ty tots + 24ty tots + 24 oty ts + 24ty ty ts + 24 oty ts + 24 ta by ts + 24t 2+ 24 o 2 + 24t 2 + 241, 2 + 16 ¢

symmetry: 7 order: 4

Abelian: True block diagonal: True factors: {2, 2}

—
OO0 000000000000 O~
OCooooo0oo0oo0000O0O0O0OT-O
0000000000000400
coooocoo0oooo0ooo0oTooo
coooocoo0oooo0oo0ooToooo
Ocoooocoo0oooo0ooTooooo
©Ccocoocoooococoor-oooooo
cooocoocoooor-rooooooo
ococoocoocorooocoocoooooo
©cococoocooor-roo0oo0oo0o0o0o0Oo
OO0 O0OO0Or-O0OO0OO0OO0ODO0ODOO0OOOOoOOoO
Ococoocooroocooocoocoooooo
OO~ 00000000000 OoOOo
OCoor-roo0oo0oo0oo0o0o0o0o0o0o0O
mTOO0OO0O0ODO0OO0OO0DO0OO0OO0OO0OO0OO0OOoOOoO
O 00000000000 O0OOoOOo
0000000000000004\J
Oo0ooocoooro
0000000000000040 oOooocoooo o~
OO0 O0OO0OO0OO0ODO0OO0OO0OO0ODO0OO0OO T~ OO0 [Nl e -E-]
00000000000 r0O00 OO0OO0OO~ OO0
cooooo0oo0oo0oo0oo0o0Toooo 99T oo ocoo
cooroooo
©0©0000000O0TO000S L 06000
0C0OO0OO000O0O0OOr-r000000 or00000O0
OO0 O0OO0OO0OO0DO0OO0Or-ODOO0OO0OOOoOOo -
—_—
OO0 0000000000 O0OOoOOo Oooocooor-o
CcoocoooToooooooo0o0O0 ©O0O0O0O0 T Too
OC0OO0OOr-r00000000O00O0 O0O0O~-O0O0O0
CcooTooo0o0o0O0OO0OO0OOOOO OO0 TOoO0O0O0
OCOr-r000OO0O0O0O0OO0OO0OO0OO0OO0OO0 OOr-O0O0O0O0O0
©OToooooo0o000O0OOOO O TO0O0O00O0O0
~TOO0O0O0O00O0O0OO0OO0OO0OO0OO0OO0OO mOOOO0OOoOo
2 s
©
£ 5
2 s
o =
S
m (=8
< c
S S
c c
£ S
3] 3]
< <

{{6732, 2, 1}}
= Cicy 6732, Symmetry 1

Cicy
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k=12t ttg+ 12t oty + 12t taty + 12t ta ty + 12t to ts + 24 by ta ts + 24 oty ts + 24ty ty ts + 24 oty ts + 24 ta ty ts + 12, 2 + 124 2 + 24 t5 12+ 24 1, 12 + B¢

order: 2

symmetry: 1

Abelian: True block diagonal: True factors: {2}
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Action on coordinates: {

Action on polynomials: {
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Cicy: {{6890, 2, 1}}
= Cicy 6890, Symmetry 1
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n(X) = -64

k=12t btg+ 12ttty + 12ttty + 12tp ta ty + 24ty tots + 12t ta ts + 24 oty ts + 24ty ty ts + 24 oty ts + 24 ta by ts + 12 2+ 24t B + 125 2 + 241, 2+ 82

symmetry: 1

Abelian: True block diagonal: True

Action on coordinates: {

Action on polynomials: {

h'X) =5

order: 2

h?1(X) =37  co(TX) = (24, 24, 24, 24, 56)
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Cicy: {{6732, 2, 2}}
= Cicy 6732, Symmetry 2
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n(X) = -64

k=12t tg+ 12t bty + 12ttty + 12t taty + 12t tots + 24 by ta ts + 24 oty ts + 24ty ty ts + 24 oty ts + 24 ta ta ts + 124 2 + 12t 2+ 24t 2 + 241, 2 + 82
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h'X) =5

symmetry: 2 order: 2

Abelian: True block diagonal: True

Action on coordinates: {

Action on polynomials: {

h2'(X) =37 cy(TX) = (24, 24, 24, 24, 56}
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Cicy: {{6890, 2, 2}}

= Cicy 6890, Symmetry 2
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nX)=-64 h"X)=5 h>'(X)=87 c,(TX) = (24, 24, 24, 24, 56}
k=12t btg+ 12ttty + 12ttty + 12tp ta ty + 24ty tots + 12t ta ts + 24 oty ts + 24ty ty ts + 24 oty ts + 24 ta by ts + 12 2+ 24t B + 125 2 + 241, 2+ 82
symmetry: 2 order: 2

Abelian: True block diagonal: True factors: {2}
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Action on polynomials: {
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Cicy: {6777, 2, 1}}

= Cicy 6777, Symmetry 1
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nX)=-64 h"(X)=5 h?'(X)=37 co(TX) = (24, 24, 24, 24, 56)
k=12t thtg+ 12ttty + 12ttty + 12tp ta ty + 24ty to ts + 24 by ta ts + 12tp ta ts + 24ty ty ts + 24 oty ts + 24 ta by ts + 24 1 2 + 12 B+ 125 2 + 241, 2+ 82
symmetry: 1 order: 2

Abelian: True block diagonal: True factors: {2}
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Cicy: {6777, 2, 2}}

= Cicy 6777, Symmetry 2
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nX)=-64 h"X)=5 h>'(X)=87 c,(TX) = (24, 24, 24, 24, 56}
k=12t ttg+ 12ttty + 12ttty + 12tp taty + 24ty to ts + 24 by ta ts + 12tp ta ts + 24ty ty ts + 24 oty ts + 24 ta by ts + 24 1 2 + 12 B+ 125 2 + 241, 2 + 82
symmetry: 2 order: 2

Abelian: True block diagonal: True factors: {2}

-10000O0O0OO0OO0OO
01 00O0O0OOOO0O0O0
0 0-1000O0OOOOO0O0
00O010O0O0OOOTGOTU OO
0 00O0-100O0OO0OO0O0
" . 0 00O0OT1TOOOO0O0OO
Action on coordlnates:{ 0000001002000 }
0 0O0O0OOOTO OO OO
0 0O0O0OOO OO O-1000
0 00O0OOO OO OO OS-100
0 00O0OOOO OO OO OT1TO0
000O0OOOOOO OO OT
1000
0-10 0
Action on polynomials: { 0010 }
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Cicy: {{6770, 2, 1}}
= Cicy 6770, Symmetry 1
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nX)=-64 h"X)=5 h>'(X)=87 cu(TX) = (24, 24, 24, 24, 24}
k=28t thtg+ 12t oty + 12t oty + 126 oty + 12t tots + 12t tats + 12t ta ts + 12t Ly ts + 12t tu ts + 121t Ly ts
symmetry: 1 order: 2

Abelian: True block diagonal: True factors: {2}
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Action on polynomials: {( 0 1 )}

Cicy: {{7447, 4, 2}}
= Cicy 7447, Symmetry 2
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nX)=-80 h"(X)=5 h>'(X)=45 c,(TX) = (24, 24, 24, 24, 24}
k=12t ttg+ 12t oty + 12t taty + 12t oty + 12t tots + 12t tats + 12t ta ts + 12t ty ts + 12t ty ts + 1215 ta s
symmetry: 2 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Action on polynomials: {( o
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Cicy: {{7487, 4, 3}}
= Cicy 7487, Symmetry 3
02
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nX)=-80 hM(X)=5 h>'(X)=45 c,(TX) = (24, 24, 24, 24, 24}

k=12t g+ 12t oty + 12ttty + 12 oty + 12t tots + 12t ta ts + 12t ta ts + 12t ty ts + 12t tu ts + 12t Ly ts

symmetry: 3 order: 4

Abelian: True block diagonal: True factors: {2, 2}
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Action on polynomials: {(:)



